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1 | Which of the following word is correctly spe]t?

(a) 7 (b) © (d)
Randezvous Rendezvous Rendevous Randavous
| 2 fWhich of the following word is correctly spelt?
\ ) | ®) © @
\ Ecclesiastical Eclesiastical Ecclasistical Eclesistical
\ 3 ‘ Which of the following word is nearest in meaning to ‘adumbrate’?
\ (@) (b) © (d)
Adamant Declare Portend Explicate
4 | Which of the following word is incorrectly spelt? )
@ ) © @
Parsimonious Orthopeaedist Exuberance onplussed
5 | Which of the following ward is nearest in meaning to *peraicious”?
@) (®) LG
Cautious Superficial : Virulent
6 | Which of the lollowing waord is opposiic in meaning to *filyolay
(a) ) ( (d)
Frolicsome Pucky Petty
7 | Which of the following is opposite in me:il
(a) (b) g (d)
Abnegate n Forswear Renege
8 [ Which of the following wordis riéest ififieaning to ‘complacent”?
(a) ) () (d)
Sluggish- _§inug Conscientious Diligent :
Re-arrange_the @i #Muﬂ of a sentence labelled as (P.QR.S) to make a grammutically correct
sentene ! afi correet sequence (a, b, ¢, d) given belaw:
iLis of thaf heat is one of the most prolific  than almost any other
_ [
- yicldl:ng a preater return per acre  of food crops
R S
PSRQ QRSP PRQS QSPR
10 | Which of the following word is opposite in meaning 10 ‘inadvertent'?
@) (b) (€) )
Foruitous Accidental Inconscquential Deliberate
" Re-arrange the jumbled parts of a sentence labelled 15 (P.Q.R,S) (0 muke 3 grammatically correct
sentence and tick mark the correct sequence (4, b,c, L.l) given below:
the Beggar satdown torest by the road side being weary
P Q R 3
@ ® - @
RQSP ST R U PRSQ
2 l Which of the lollowing word is opposile in meaning 10 LU(:)E) : 7
@) - ) : ()
Pacan Commendation Condemnition Approbation

Re-arrange the jumbled parts af a sentence labelled us‘(b.Q.R.S) ta make
13 sentence and tick mark 1he carrect sequence (a. b, ¢, J) given below:
\he prize money for refusing him Samsuni Was ordered 1o compensate the may
P 2 . :
= ) i el
AoeR RSQP SRPQ RPSQ

4 prammutically correet




k4 | Tn my previous job I was allowed only one Lwenly minutes
(a) (b) (c) )
brake brakes break breaks
I5 | Tt was due to his lethargy that the plan fell .
(a) (b) © (d)
by on through at
16 \ The employces said that they were no longer prepared to the ways of the new CEO.
@) (b) © &)
put up with put on with putupto put over with
17 | The boat as well its crew ___ gone to the bottom of the river.
(a) (b) (c) (d)
has have might are
18 | Fifty years ___half a century.
(a) D () (c) ~(d)
make made makes is made
19 ] it was raining, Roy went out without a raincoat.
(@) (b) (c) ()
Even Since Until Although
20 | Can you pay ___ull these articles?
(a) (b) + (c) (d)
out off for of
21 ‘ Ajay and Vijay are fast fricnds; the former is very stout, the is very slim,
: {a) (b) (c) (d)
o |——— later latter latest other
22 | If you come here in the moming, you clouds all over the valley.
(2) (b) (c) (d)
would found would have found {inds- will find
23 | "A culture vulture” means
(a) (b) (c) (d)
Someone who is very Someone who defends Someone who destroys | Semcone who is a staunch
keen to experience an ancient cullure ancient culture crilic of one's own culture
and literature
24 | *Tocry for moon' means
() (b) (c) (d)
To come 1o nothing To jump very high To speak very loudly | To desire an impossible thing
25 | 'Cook the Books' means
(1) (b) () (d)
Toconcoct a false To be audacious To record lalse information in To do something 1o spoil
story the accounts of an organisation someone's plan
26 | ‘Rap on the knuckles’ means
(a) (b) (c) (d)
Severe criticism Appregciation Rap on the rocks Rap song on the bulge |
27 | Which of the following part has an error? |
@) ®) © @ i
{ Every man, woman and child are now aware of the adverse effects | of the habit of smoking. |
[ 28 | Which of the following part has an error?
[ () | (b) (c)

[ Being a miny day | we did not fecl like

| 29 | Which of the follawing part has an error?

going out or doing anything

¢xcept walching a movic in our room

(d)
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1 was watching an interesting | when the phonerang | and anwillinglys I ot

Television programme ouw

and gone there lo answer
it

30 | Which of the following part has an crror? 5
_-__‘_‘-‘-_—-'—-—-
(a) (b) () : _
3 " a0 d gciting panicky.
\ 1L is better to keep one's head in the face of an losing one's courage anas
danger —ix+7y=3 where x]<1000 and [y|<1000

1>

How many integer values of x and y sutisfy the expressio .
- <| 1000
X H% y F ey i 19 4x + Ty =3 mﬁawﬁmﬂh t|x|<1000] ATy <

(d)
(a) (b) K () — 287
285 284 386
37 'I:hc infinite sum\of the series 171 + /3 + 1/6 + I/10 +‘1115 R
TEET ARG QI+ U3+ 16+ 110+ W15+, 8 @
(a) (b) (c) =
4 3 223 C, 5 years ago was 20

Three years ago, the average age of A, B and C was 27 years and that of B and

33 years. A's present age is: . "
Wmﬁ’ﬁﬁm?ﬁmﬁﬁﬁwmwmzﬁaﬁrﬁaﬁtﬁﬁsmmzowaﬁl T
(a) (b) © ()
40 43 30 35
34 If 2 man decides to travel 80 kins in 8 hours partly by foot and partly on a bicycle, his speed on foot

being 8 km/hir, and that on bicyele being 16 kmvhr. what distance would he travel on foot?
aft F1¢ =afRn 8 =92 % siftr w7 & few o arefie & 80 Rl 7 amET T wear §1 fE iR
FTEIHer 9 IFH! Th 8 Fiviy / vt 3 16 Bl /2 .47 37 dwa Tt o a3 wan?

(a) (b) (c) (d) i

48 k. 54 km 42 km 60 km

Abdul goes to the markel to buy bananas. IT he can bargain and reduce the price per dezen by Rs.2, he
can buy 3 dozen bananas instead of 2 dozen with the money he has, How much money does he have?

STl o WERA AT AT B AR 93 WA 0 2 707 qi 730 7 30T Fova w7 5 o 8,
AT 92 S T WIS 8 F 674 2 TS F a9 3 T F @S TRl Z1 6% O e far 37

(a) (b) (c) ()
Rs.18 Rs.14 Rs.12 Rs.10
36 | What is 20% of 50% of 75% of 707 (70 % 75% H ¥ 50% T 20% 747 £7)
5.12 5.25 6.75 6.24
17 A dealer sold two TV sets for Rs.2400 each, gaining 20% on one, and losing 20% on the other. Find
the net gain or net loss? ‘
T ST T 21 ST T 52400 F TEH HAFT, TH T 20% 4 AW F, dik g aw 20% 21 gE
& AT AT 4F e Ara g ?
(a) (b) (C)‘ (d)
Rs.300 loss &T7) Rs.200 gain (FTH) Rs.300 gain (ST4) Rs.200 loss (&Ti)
28 If the compound interest on a certain sum for 2 years |s-Rs.21. what could be the simple interest?
afE 2 7% % e fifSe afdr o= sy == 521 2, 1 ATETCT =T T ey 29
{a) (1) (c) @
w21 220 %23 226
30 Il two numbers are in the ratio of 5:8 and if 9 be added 1o each, the ratio becomes 8:11. Find the lower
number.
af¥ 2y sieamt 5:8 % S 7 § N7 79 F TAF H SRV A G, T A7 8:01 37 sy & Bw
HE4T ST o
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10 6 men can do ﬂ_.P'fCU of work in l?-_dfl_}'-‘*l- }mﬁ';f”‘?“y ten can do the work in 18 days? = \
6 st 12 Fett 3 v e e 7 a1 18 T W By st oy ooy e v 52
@) (b (e) @ 1
2 men (TEHT) G men (arra'th___ 3 men (A=) \ 4 men (FTTHY) \
41 The length of the minute hand of a clock is 8 cm. Find the distance travelled by it's outer end in 15
minutes.
| o ot 5 Fre g o o 8 et & 15 e 4w 25 Tt T & AT A T )
(2) (b) (c) (d)
16x cm. (ﬁTﬁ') 12n cim. (?T‘ﬁ') 8x cm. ('\C{Tﬁ) 47 cmt. (%‘lﬁ)
Find the value of the expression | —6+2-7+3-8+....
42 .
FqH1-6+2-7+3-8 +...%‘I‘W51Tﬂﬁﬁfi§m|
(n) (b) (c) (d)
=250 -500 —450 -300
43 A sphere of diameter 112.6 cm is melied and cast into a ight circular cone of height 25.2 cm. Find the
dinmeter of the base of the cone.
112.6 3ok =T o e SR e st & o 25.2 d £ e & o g 4 # G ST g
97 3 SITEITE T T4 AT L j
@) ) (c) (d) il
158.76 cm. (341) 39.64 cm. (&) 152,28 cm. (1) 79.38 cm. (3°f1) |
44 | The perimeter of an cquilateral triangle is 72v/3 cm. Find its height.
o waTs B i TRy 7243 @t 2 ot $=rs e i
| (a) (b) (c) l (d)
-~ 63 meters (HT2X) 24 meters (H127) 18 meters (H27) 36 meters (Hie3)
45 What will be the circumcenter of a triangle whose sidesare 3x—y+3=0,3x+4y+3=0,x + 3y +
11 =0?
e Faroger iy oy Fan Zoft R e 3x -y +3=0,3x +4y +3=0.x +3y + 11 =087
{a) (b) (©) (d)
(3. -3) (2.-2) (=3.3) (=2.2)
46 What will be the length of the perpendicular drawn from the point (4, 5) upon the straight line 3x + 4y
= 10? .
el T 3x + dy = 10 7T g (4, 5) & = T AT £ Fvars w4 e
(a) _(b) {c) (d)
12/5 32/5 225 42/5
47 | The angle between lines L and M measures 35% If line M is rotated 45° counter clockwise about a
peint P to the line M*, what is the angle in degrees between L and M'?
AT L o M 3 S A AT 35° 3w are M A g P AT MY A SR 45" Fee T
T T 2, A7 LS M e e TR
Ml
M
0
p 45
. 5
L
[ (a) (b) ) (d)
90° 80° 75° 60° ﬂ
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gg | T = 1/x, g0x) = (T~ x) and h(x) = x’, then what is f(g(h2)))?

f = = - 3
| AT f(x) 1/x, g(x} = L/(1 x) 3?!'1’]1(;:) =x) §g Ke(h2)) HTEFI? @
(a) {(b) {c) l—f 3
= I 2 - - -
49 | Solve the inequality |x* - x| < x = ik bl ikt
l<x<3 -l<x<3 x>3
50 | Find the maximum value of the expression —,l—
. x4+5x+10 .
(TFEET = ,m‘maﬂﬂwm =9 T i) : D
(a) (b) (c) ( 3
1572 4/15 I Y =
51 | £ 7%%1 —7%"1 = 48, find x. @R P -7 = 48, 91 x T AL A3
@ & © @
1 2 7 =
55 | Inhow many ways can 4 Indians and 4 Nepalese people be seated around a roun ble so that no two
Indians are in adjacent positions? ®. of. -
4 T o7 4 At Frr e ol & v e 3 9t A% A ot &7 aTe1a
"z gu fFEafa § 3 577 i
(a) (b) (d)
188 122 | 144
53 | Thercare 25 points on a planc out of which 7 arc cellin vimafty straight lines can be formed?
o e 7% 25 fig & Rt & 7 Fifvfrae & Sl i o =t §2
@ _® - @
- 280. 7 300 250
elihis’2/3 and B can solve the problem is 3/4, If both of them

The probability that A can solw&a.p
attempt the problem, the) is (e

A BT ATEIT R B T

54

AR 2/3 3 51T B 2T THET FT W A Sl eraEar 34 2 afr g
T 8, AT T4 AATAT 5 B A g g amg?

() (d) -
Va 11713
ANy nu. of 95 used in numbering a 453 page book?
453 Tror T BraTa 7 foraeT 91 9 H9< T SETE0A AT 7Y
(a) (b) {¢) {d)
87 86 84 85
56 Which term comes next in the series: YEB, WFD, UHG, SKl,... ?
SPArAT ¥ AT @eF T 9T ST 8 YEB, WFD, UHG, SKI....
(a) {b) (c) (d)
QOL QGL TOL QNL
57 | Giant: Dwarf :: Genius:?
(a) (b) (€) (d)
Wicked Gentle ldiot v _ Tiny
sg | Pick the odd one [rom the following: (Frafertar 3 & famm =y Eﬁ:)
) (b) (c) (d)
Arc (F177) Diagonal () Tangent Giktez1)) Radius (=)

If POND is coded as RSTL, then how is HEAR wrilten in that code?

59 s
A% POND 7 RSTL % =7 3 5fey Ry 7T &, A7 59 13 # HEAR 89 fomm s 27

(a) (b) (c) (d)

GHI GHIZ JIGZ 1CLZ




e wom of her .
POTTinE o n Tady, o o says. - 1he St 0L REC only brother is he broher of my wife, How i the

lady related 1o the pan? 5 ) . _
s g A G e w7 §7 0 AT T TR, " wrrr v S st i

60

wifar e o 4 A B7 :
' th) L td)
{al 0 =
*x &l Grandmal her Maother-in-law Sisder of futher<in-law
Mulhcr S sn:«ler ‘ . | ‘ L |
' h. He tums 135° in the anti cluckwise direction and then 180% in the cimkwm‘

A nmn is facing Soul

ol ’mmc ion. Which direction is he facing now’ B
ﬂa::‘"f;faﬁwra?rmﬂmglﬁIJS"@WWWWWWIW'Wmﬁm

i gz v & v g P o 0 AT 5 7R 87

(d)
() (h) (c)
North-gast (F97-T4) | Norih-west (Fv-rad) | South-cast (ZFErr T4) | South-west @ﬁfw-wﬁ;m)
62 Which is the last word \f the following words arc arranged alphabetically: Transmit, Transplant,
Transport, Translate? i o _
317 Transmit, Transplant, Transpoet, Translate gzt i quiEd srafea iy s 41 sfas o=
A 718 _
() (b) () (d)
Transpart Transmit Transplant Tmnslntg
hich number will be fourth to the right of the

3 If the following senes is written in the reverse order, W

63 | seventh number f rom left?
7.3,9.7.0,3,8,4,6.2,1,0,5 11, 13 - ‘ ‘ )

o T ST AT IR T O T war f, 1w A wear ant 7 qrad 97 ¥ 27E T A ST

| v E?
-— (@) (b) (;} (ldil
5 , = .
; 6, 7, 8and 9 are represented by a, b, ¢, d. &, f g b,

In an imaginary language e digits 0, 1, 2, 3.4, 5, resent L
o iandjmdloisrcpgr:sncilodnsmmcnmccnpmpimdcXf—-(bl‘-&d))(dtsoqmlm:

Y FrEAE AT # 0.0, 2,3, 4,56, 7. 8 79T o b, ¢, d e F g b, i 30T j 3l 10 57 ba 50T

oty T 1w et de X - (bf - d) X d FFOATE:
(a) (b) c) (d)
abb abe bee bef

In @ group of 15 people, 7 read French. 8 read English, while 3 of them read nonc of the two. How

63 mnynfﬂwmrcadchhnndEngUsh?nlh? L X
lsﬁnﬁ%mH,vﬁhm.s‘mmﬁqﬁ.ﬁﬁmwswaﬁfﬁﬂﬁé'ﬁaﬁmwﬂ‘w

(1) thy (c) (d)
0 K] 4 5
66 | Whatis the number in ? (2 ¥ ¥t 77 27)

1 12 |3

4 |5 |6

7 |8 |9

27 |38 |1
(a) i) (c) (@
49 50 Sl 52

Which box from the Answer Figure will be the next in the series of the Problem Figure?

67 T AT & w17 av gty wwey e f ga= § s g
Problem Figure Answer Figure
MageTof 24
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A B C D l = 5
=
(a) (b) [T P— (4)
1 2 | 3
68 Select the c:f.cl_usivcly different figure fram the lollowing:
et 5 & R =7 & Pra gl o w9,
N
N
N
1 2 3 4
() (b) fc) o T
1 2

Instructions for Q. No. 69 to 71. Loak at the following ligure:

oo d=ar 69 7 71 % [ FEon Frafefm e 74

£

s
@_iﬁﬁght lines w construct the Mgure?
; S =L WA TV A?

69 I What is the miniin
| srpf g F R
(a) (b) (c) (d)
11 13 15 21 _
70 \ Cuutnl theigmmnt o angles in the figure. (s{qﬁ-rfr Byt i s 7 7oAt 7291)
(a) () (c) (d)
12 20 22 _ 3,4 _
71 | How nuny squares does the figure contain? (@t & e vt 27)
{a) {b) (c) (d)
35 6 7 8
52 | Mirror image of ELEPHANT is: (ELEPHANT #7 Tdor g §2)
@ ® ) @
THAHS1.J3 THAHZ%J3 _ TAHHGIA THHAGI 1T
The two words Eyes: Tears have a certain relationship to each other. Select which option has the same
3 relationship us the given pair ol words. . o o N
& WA S mﬂﬁﬁiiﬂ%if@ﬁfﬁ]’ﬁm%lﬁﬁﬁ?ﬁﬁﬁﬂmﬂnmﬁwmmw
al
(a) (b) , {c) (d)
Sea : Water Volcano : Lava Heart t Artery Hunger : Bread
wE: A SeTeTTeE: ATET F AT o T
74 | Pick the odd one oul of the following: 7 (Frafafs &5 ﬁW‘T?ﬂT‘;)
tan) (b) N () B— (d)
Morarji Desai Jawahurlul Nehru Lal Bahadur Shasti S. Radhakrishnan
75 BEGK is related to ADFJ in the same way as PSVY is related l.U_ ?
BEGK 7 #a ADFE 71 &1 & Sram pSVY 77 EEEIEEEY
(a) | (h) [ (© _ | d) |
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76 | Which number is like the given sct of f'"“"‘”s =370 SRR 1
Ftey w77 s Py oy g e 2= (3 17 310 2 w
{a) (b) () =
5 15 e 10 4;
77 | Choose the edd pairs of words: (vr=Ei o Favow vz o)
(@) (&) (c) () —
Cow : call Lion : cub Tortoise : wrtle Dog : buch
v TET §IT: ATA FT: Fge T F
ﬁ-;rs Choose the number which is different (rom the group. X WA A AT AYE A 9T 21)
(a) (b) {c) (d)
48 50 82 170
7 Out of these g'““p‘f,“._f_ a.]phabeis. find the odd group.
FUETAT ¥ 39 AT |, [ A A TEr 2
() (b) (©) (d)
MEWGN PBQTX DRYSN CGH‘KV
go | [FE=5,PEN =35, then PAGE =? @ E=5, PEN = 35, AT PAGE =)
(a) (b) (c) (d)
27 28 29 30
Directions for Question Nos,81 to 83:
g FEAT 81 & 83 7 o Rar-fd
Study the following line chart, which gives the number of students who joined and left the school in
the beginning of year for six years, from 1996 to 200 1. Answer the guestions that follows.
el Initial Strength of school in 1995 = 3000.
£ 200 —————————
100 - —_—— e e — -
o . ' + . - .
1996 1997 1998 1999 2000 2001
Yoears
= = Hurnbar of Students who left the school
—m— Nurnber of Students who joined the sdhoal
I ATEA A2 T HETAT 7, A7 1996 7 2001 7% W § A000 H Gg 77 ¥ A =5 #§ onfirm
F1 ol g A gt £ e 2afar 15w v fEfm e s e d
31 The ratio of the least number of students who joined the school 1o the maximum number of students
who left the school in any of the years dgring the givFu periad is?
& wf sty & S Ry oft o & wer W s € e F arfe ol dee T et $r afteam
l HEAT F S &7
[ (a) {b) (c) (d) |
| 79 4.5 2:3 35 j
82 The number of students studying in the school during 1998 was?
1998 % 2T & | 94 AT arAl 4 A et o
(a) 1 (b) I (c) 1 @ )
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2950 | 3000 | 3150

83

ool was same?

During which of the following pairs of years, the strength of the sch

3IOQ
fFrateiere % 7 B a0l § wxer § ot 6 dom gy 47

71" (d____ ]

{a) (b) ¢) —————
. ~ 1998 and / ST 2000
1996 and / 31X 2000 1997 and / 9T 1998 19 J J #fre 200! . el
o o7 T 84 H 86 T Fam-faZy:

Directions for Question No.84 to 86:

w. Given is the distribution of the

o belo
given ¥ are Rs.3600 per month basic,

Analyze the following pic chirt and answer the questions
of person

monthly family budget of a person X. The total carnings
plus 10% as transport and meals allowance on the monthly salary-
FrafrfRre wrs =ré o RAguer F¢ T A= Ry WTW":
ot T R X &1 =1 X Y g o 3600 9f Arg A & 9
AT 9T 10% I

az Fa g o Rt =i & mftr
Fr mife da T 9T die

e ——————

Expenditure  Stalutory Deductions
lowards PF

12%

Medical &
Miscellaneous
13%

House Renl

Education &
18%

Maintenance of
Children -
23% Enlerlainment
9%

Calculate the amount of expenditure on Education and Maintenance per month, if a person X payT

84 | 939, of its total carnings as Education and Maintenance of children,
ufar a18 Frar T TECETT WX A T AT A TET F, AT ATE AR ao T o FAg A 23%
eI e 7=t 6 TETEr § w7 4 T g
(a) (b) (c) )
Rs.920/7%. 920 Rs.915/%. 915 Rs.900/%. 900 Rs.910.80/ %, 910.80
What is the approximate carning left of person X (in Rupees) per month alter deducting payment of
83 house rent? i
T 3 R S e & e e i A =fn X A SR T (s #) a2 i
@ (b) (c) @
Rs.3049.20 p.m. Rs.2589.40 p.m. R$.3247.20 p.m. Rs.2350.50 p.m.
%, 3049.20 7R 7, 2589.40 9fTE %.3247.20 7fTE %. 2350.50 TRATE
gg | What is the total amount per month the family spends on house reat and statutory deductionm
PPF expenses?
ffrﬁrz’r)nﬂ’w WWWW&%W“WWW(W@E«EW AT R?
i) () C
Rs.LLBH /=770, 188 Rs. 1259 / %717 (259 Rs. ][40 /%90 1140 Rs, 1 loof'czw 1100
Directions for Q. No. 87 to 89: TTH=AT 87 7 89 7 form ﬁ;n_ﬁfﬂi

Study the following figures carefully to answer the follawing questions. \/”J
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Frerferr a1 3

9000

Percenlage of students
e,

attending an intervi

Bangalore

fram dilferent cities
Tatal Sumlents =

P ereeni

$Waﬁ$mﬁﬂﬁm — LW AL st

/”'ﬁ[\—-\

3500

Bangalore
23%

e ol 1 !
dUending an interview, Towl Female students

age of fenale stodents from different eities

Mumbal

18%

tota} number of male students from the same?

What is the total number of male students from Chennai and Bangalore lggg_t!}_gﬁ,’
87 | < 21¢ sre e e e axt g e o A Foe &7
(a) (b) (c) (d)
2480 2720 2610 2530
88 What is the respective ratio between (he number of female students from Mumbai to the number of
male students from the same?
S & et ot e er 1 o et s e s A T 47 |
(a) (b) (c) (d) B
7:6 2:5 34 6:7 |
39 What is the respective ratio between ihe total number of female students from Mumbai and Pune to the

(@) (b) (c) (d)
17:39 39.65 68:13 - 49:95
T FEar 00 HiT 91 F farg Rarr-fAEr

AVERAGE® DAILY T

Average Total Amount of Sales

Dircclions for Q. No. 90 and 91:
Look at the Figure given below and answer the Q. No.

3y Fer vrer ey i S o e wEAT 90 AT 91 FT IO 2

OTAL AMOUNT OF SALES AND
NUMBER OF SALES FOR STORE X

90 and 91.

[ | | I

Sl.goog T Average Total- Amount of Sales 30
80O (left-hand scale) A >
N /1 40
—00 N 35
500 71\ Vi 30
500 AR = 25
/ ‘ \ - S~ \ 20

300 ST AL
200 l Average’ 15
ps N_umbcr of Sales —t 10
(ng}n-han'd' scale) - 5

1

Mon. Tues. Wed. Thur. Fri. Sat.

wia »
Average™ means “arithmetic mean.™

Note: Drawn to scale.

S3[eg JO 1aquiny deraay

On the average, what is the total amount of sales da 9
) crage, per week (Monday through Saturday) fi ore X
1 ] o y) for § !

]

(a)

l

(b)

l

(c) |

(@ |

Page
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| D?i’iiogothe first . k of i | 3330) | T
9 ! week of a certain month, verag i
\ : Saturday than on Monday? P, How oy pecs a¥erage i
O RPr wgie & et g 2, ST i e 3 arfaTe 3 = X A Ergikipeiiin
[EELIGEYS
(a) (b) ) (d)
15 25 30 35
Directions for Q. No. 92 to 94:
T TEaT 92 § 94 F forg Rem-fdar:

estions given below:

Study the following chart carefully and answer the qu
A entrance exam and

Distribution of candidates who were enrolled for MB
enrolled) who passed the exam in different institutes:

ﬁqﬁ%ﬁmﬁmmﬁ?mmvmﬁ%ﬁvmwwma
qwﬁqnﬁrwﬁm%ﬁmﬁmﬁﬁaﬁtﬁﬁﬂmfmﬁwﬁﬁ*

THEF FT BIE FY) FT (&

T T3y FelaTdt (TR

the candidates (out of those

Candidates enrolled = 8550

Candidates who Easscd the Exam = 5700

g | gfteras o= )

T HEgT 95 7 97 % o -k

The following tuble gives the percentage of marks obtain
an cxamination. The Numbers in the Brackets give the Ma

e s O AT 5 S A9 R & arAr avd

ed by seven students in six different subjects in
ximum Mark§ 1n Each Subject
T ST F IR &1 A # FA7 TAE

What percentage of candidates passed the Exam from institute T out of the total number of candidates
a2 enrolled from the same institutc?
o L M it SFHIEATET 7 Tt S A7
(a) {b) (c) (d)
75% 80% 88.8% 62.5%
93 Which institute has the highest percenlage ol candidates pass::d lo_lhe candidates enrolled?
%ﬂ#mﬁﬁzﬁwéﬁaﬁmﬁwﬁfﬁm afts S=hiv gus?
{(a) (b) (c) @
Q T v R
94 What is the percentage of candidates passed to the candidates cnro!!cd for institutes Q and R together?
mmToMR$ﬁszﬁWanﬁ?am$mg—r%qmﬁ=ﬂmmqﬁmma? ]
B 68% 74% 80% 5%
[~ | Directions for Question No.95 to 97:

-




Subject Taxiny
T Physic r\mMa'k""
Swdent | Maths. | Chemisiny 2" | Geograpyy ﬁ\\
ey | (130) (120) Nﬁﬂi Compuier Science
(soy | - L — (100) (60 ,
1 | 90 — (40)
Ayush o o
Anun W———___ﬁ(_)___ 2 % 70
T | 60 70
Sajal 90 0 90 70
“ront | S0 63 80 50 60 60
Muskan 30 63 85 93 S0 90
[ Tanvi 70 75 65 85
Tarun 65 35 50 77
5 What are the average marks obtained by all the scven sludopgs
3 after decimal) L
AT 5 et AT BT 2T 9T s S R 67 (e
{a) (b) a W (d)
39.14 91.37 1 77.26
96 The number of students v.ho nht.xincd 0%6-q arks in all subjects is? /
Tif7 Rt & 60% i< 37w ..n‘iﬁ‘ i 1 s fat 37
() © [ (d) {
1 l 3 ]
97 Gﬁﬂmﬁﬁmﬁhmﬁﬁmgﬂ[
[ (c) (d)
63% 60%
Dire A
T

Study the Talloy

PRODUCTIONO

g graph carelully and answer the

ﬁﬁﬁmmwmmmwwﬁaﬁﬂﬂt{m?

qucsu

ons glvcn below it.
IT 31

FFOODGRAIN OVERTHE

YEARS (1000 TONNES)
130
120
110
100
80
H 65
1953 19594 1995 1996 1997 1998
98 In how many years was the prodoction helow the average production of the given years?
L L AT O M B o e B T e s e X4
(a) (h (€) (d)
3 5 2 1
99 What was the approximate percentage increase in production [rom 1993 to 19947
1993 ¥ 1994 7% ScqTe ¥ sFETia afaaa iz w4 42
(a) (b) {c) (d)
30% 65% 90% 0%
| 100 In which year was the production 50% of the tolal production in 1993 and 1998 together?
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T 1993 30T 1998 3 Fef IeTEH A1 50% R a4 & w7 g7 417

(b) (d)
1998 (©)

1995 1996 1994

L
il (a)
i
I

{01 A banli opeged irj'SI_?Z in Indi_.:l comcs_undcr which category:
T 3 UHEerE o Wi T A e Al i e 2

]
L (@ M @ @ |
Y Domestic Banking Offshore Banking National Banking Intcrnational Banking J
v AT AR AT J9rred ATanT ZzraaAe A1
FOZ Which of the following is not the role of RBI: (Prafafa & & w4 TS AT A5 72 &)
(2) (b) (c) (d)
Bank to Government To accept deposit from public To l?c l{lc ban_kcrg' bank Allﬂof these
¥ g TAHHE e i Fenifere =i # T et T AT F a oy

103 Mutual Funds are regulated in India by which among the following?
Amﬁwﬂmq’rﬁ—q?mﬁﬁnﬁ?r% SIGLEL

Y A—
{d)
(a) (b) ﬁ)‘_______,_ —
Stock Exchanges SEBI RBI RBI uan .‘EEL’:I bolqh _
: g iTT 2
Haw increase in domestic exchange rale of 1 country will affect its imports {ﬂd exports:
14 a7 T 9 ' i i ZTHE e oy T AT AT A
ﬁvﬁrawwmﬁﬁﬂﬂﬂnqﬁgwmmmmﬁ E 5
(a) (b) _ L2 - — .
Tt will increase the demand for Tt will increase demand for Ju will |nc1:casc denund | Either Y gf bis
exports and decrease in demand import and decrease in for both imports and possible
for imports demand for exports X exports AraATb A
g Rt i AET H TECT e ST AT T A a’ﬂfmﬁ‘ﬂ'{ﬁqﬁ %
_ i e Y T O frafe i s & T AT St <y i Fat

05 Which one of the following is not a capital market instrument?
105 | S ieie 3 3y et Yoo ST AT T T 27

(1) (b) (c) (d)
Treasury bill Debentures Shares Public sector bonds
orft B RS IRES I & % 1S
106 | What is 'Green Banking'? CIEELER) T §7)
— @ (b) (©) (d)
Bank financing lo Bank financing 10 Bank financing on pro- All Bank financing to
irrigation agriculture environment farmers
GiarE R dE | e Rrg AF fama it qdE THIET T fRrarat & @it 9%
107 How are Micro, Small and Medium Enterprises (MSMES) categorized?
e, wte s ifEaw dewmas (MSMES) iy e 87
I
{a) (b) (c) (d
On the basis of prolit On the basis of On basis of basis of age of None of these
eamned Investment entreprencur =3} A F9E 8
S T AT T | P e ux | S A A THT T —
108 | Treasury Bills arc : sy ot &)
;________—""
(a) (b) (c)
Short-term linbility of

- liabil Ty
ong-term liability of the Short-term liability of Long-term liability ©
the producers and producers and (raders 3

traders 55 .z the Government the Government

T S ST SRR AT =TT Y HTHTC T AR R e R IKiETINED
Ft s=efers T TSR Smr wgar ST

109 | APMC Act is related to ;

—
(APMC sty Frarferfeae & FAA &)
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/_—‘_-—————_
— itutional cre it to M
Agriculture markeling Lnsti! i India ' VISt o oreds W
. b agriculture ! D igri . n Irriat —
in [ndia N o i "Culture in gy Eittion facilities o
. H ﬁ Squre qrad J Iﬁ' g s T 1 3 T Foror fre n;lrgfltulmrc in India
T 1 £i ol e
srearTd B . T T B firs
— e rerminology, NPA mean® & Jr-f-n-ﬂﬁ e
(o | InBathine = ) [ © ' LAY
(a) N ina Asscl Non-Perso - £ih
Non-Promise Ac::f)unl NOQ-]’%g n{ﬁE ﬁﬁ.ml mm Net-performing A’*suj
Golden rule of fiscal policy in Indiais : (AT & T i 77 =ty e )
_’_‘f-@____ .(b) .(c) ()
Borrowing only for Borrowing only for Borrowing only for Borrowing for budge:
current expenditure A public lnvcslmtinl ) i rcpayn_zcm 9m: debt ‘ expenditure
Sy TGN 7 (T mqrh%ﬁmr? A FHIE A FT A FHE @ F (7 I AT
SHTY AT o e AT # A 3 =T
The temporary tax levicd ta obtain additional revenue is called
1 2 3 fom e A sErd :
syrFoes Tyeres WTH F0 & M1 T T = FL Fgaral o
(a) (b) (c) (d)
Cess / TTHT Penalty / SHTAT Surcharge / AfraR Fee/ 95
(13 When the RBI announces an increase of the Cash Reserve Ratio, what docs it mean?
wwzﬁm&&mﬁaﬁmﬁq&ﬁﬁmﬂmaﬂwwméﬁ J
(a) (b) (c) l (d) ]
The commercial banks | The commiercial banks The Reserve Bank of | The Union Government will
will have more money | will have less money LO India will have less have less money to lend
- tolend lend moncy to lend ¥ FUETC T SUTL A
e dai Fur | Arfvfers 5w T e R dw T | % R F e
ST & F R Al | 39T 3 e e FHTT 59 & (o7g %7 94T
TAT E-Wl' ?{-FTT BT
114 In 1991 India met with an economic crisis. Which of the following can be quoled as a reason for the
‘ same?
1991 % wTd | UE AfAS e ATl Frefafad § & =T 5 FTO % T o Sqya A 5
(a) (b) _ (c) (d)
High level of foreign The high level of Rising prices of essential Political instability
~ exchange reserve external debl goods Trer s affaar
Frzefy mzr s i 71 53 AT 7o AT 59 9% AT TEHA T AZAT e
115 | What is meant by "White Label ATM'? (=gt 7= nEraR' I F4T AT 27)
. (a) : (h) (c) (d)
ATM installed in Bank| ATM installed outside ATM installed by non | Swipe machines installed at
. brz{{lgl_lcs . Bank hr;ulchcs banking companics ' point of sale
o QIETel § =TT AT 4T T ATET v A amfeat g Pt 1 g 7 el
116 Ina frcf: cconomy, mggualmcs ofgncomc are mainly due to?
o T aderaedT §, TeT T & 19 S il 57
Free competition Private property and Differences in the marginal Private property onl
e TRRET {nhenmnce productivity of labour W%ﬁpﬁ Ly only
Fref sy st Frererar | o Y st sevrar 3 s il
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The ‘India Aspiration Fund’ by Small Industries Development Bank of India (SIDBI) is a fund:

|

m\ X i
\ e Sei T 4% () 2 e st T o A
Li_un wogld for meeting the equily that would invest in Research for funding
invest m requirement of Medium, Small | and Development at Indian ‘Innovative Startups” |
Veﬂ“ge Capital and Micro Enterprises Institutes of Technology AT e
bpas o, A ST e S AT | ety A AR | o e
av Efea : N g .' s 3 Frergraw F AT
P S | R wreEAr W A g | s e e i e
¥ Ao wom fone =
118 | Real income means : (@TEI T A % AT g 2) ’
(a) (b) , (c) (d)
The quantity of commodity Incame after The quantity of commodity | Money income — Tax +
purchase in inflation deduction of Tax that money income buys | mational security benefit
qrefif i A A @b F | g e I £ ATAT T A | AT - T o+ T AT
AT 7L AT & i)
119 To reduce the rate of inflation, the government should:
Wﬁﬂﬁwm%‘ﬁmwa‘rqﬁﬂ =
’- I - bl Enc g(:)consulncr RCI’.!UCC interest rate
nereasc public ncouri o B
expendilure spending =T & TH B
TS =7 T2 ITATT =49 T agTd =
ﬁzo I Inter personal equity means: (BE© e gfdel 3 7aed &
[ (n) ~_ (D (d)_
Equal treatment 10 woil disinbution of Equal r?co‘gr'ulmn for two i
F equals “liealth in two regions individuals
T =T ST AT - =7 Gt i e Zr=afarar F e gara
H = g7 faer qr=TaT
Consider the following stalis # itk reference to “Bharat Padhe Online Campaign’:-
121 1. NITI Aayog hasjilishcdith J'campaign for promoting onlinc ecosystem in rural areas
2. This campai %i so promote available digital education platforms such as ‘SHAGUN',
‘Swayam geic.
Which ofil fucnlls) given above is /are correct?
e = e i wed i Prafeiae FaAT ) e al

T 9% A0 &
1. fAfer @i reftar Sy 5 sitTT TRy o A AT T 5 g g v s BT g
zagaﬂuwwmv:%ﬂﬂmmmﬁﬁﬁ'm =T, A A o = mET T

% L gt B 7 T A7 [ H T4 g6l 67
@ (b) (©) @ |
| only / Fa 1 2 only / e 2 | Bethl and 2 / ST Neither | nor 2 / %1% 721
s awarded to Prof. Abhijit Banerjee, Esther Duﬂm

122

In the year 2019 Nobel Economics Prize wa
Michael Kremer for their research on :-

o 2019 A TR TOeRTC ar. afasid

FerlT, TERIK TFIT A% Wy F¢ €7 5 49 5

"]

| for = e o
()

(b)

(c)

For their contributions

For combaling

(<) I—

For integrating climate change

For their experimental
approach to alleviating global

to behavioural

racism

into long-run macrocconomic
analysis ‘ i
SR AT AT | AP T A § | Rl A & gwh AT
T FAT AT G T F | R S wrrers =fewn TR & e R
2 ) . > ﬁj—/
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Sicnkisl l  ferm
23 In New Education Policy 2020, the current 10+2 system i b
123 | [dentify the structure of the new curricular. e replaced by a new curricular structure,

5 forerr 1R 2020 &, TEATT 1042 T 3T W0 % :
- ‘ N v TS WS e g aRenfie B s g
T TTETEA T HIAAT B TEA Al A

_ \ —

—
3445 54+3+3+4 : 4+3+3+5 S+4+3+3 \
. “Dare to Dream 2,0" Challenge is an innoviation contest that aims to promole Indian innovalors and
124 start-ups, was launched recently by? - \

w%ﬁwz.O'éﬁv@-ﬁmwﬁﬁﬁmﬁﬁw@WWmﬁﬁmeﬁ
T T &, e &Y i aie fhar ar ar?

(a) (b) (c) (d)
[ NITI Aayog: Indian Space Research Council of Scientific and Defence Research and
& s Organisation Industrial Research Development Organization
Consider the following statements with respect (@ “Jal Jeevan Mission™:

125 1. It aims to provide safc and adequate drinking water to all rural houschold by 2024
9. 1t aims to connect all rivers in India by 2025

3. [t aims to provide irrigation water to all rural houscholds by 2026

4. [t aims to revive traditional water resources by 2027

Which of 1he statement given above is correct?

oo ST TRy o e i P et T RER AT

1. Wﬁwzouﬂmqﬂwﬁwﬁaﬁﬁﬁﬂﬁﬁfmwmfﬂﬂm%

2 =T W 2025 T AT At it 91 SE 8

3. THET T2 2026 T T4t sy At 5 BT T T IS FAT |

4. 72027 T TR T ST} AT AT O T el WA g

FUT 2w T AT H A FA AT T

(a) (b) — | (c) (d)

| only /AT 1 2 only / ¥ 2 3 only /&= 3 4 only / Fa 4

Consider the following statements with rospect to AYUSH Sanjivani App : -
126 - - £AY . . )
I. It will help to gencrate data on acceptanice and usage © USH advocacies and measures ameng

the papulation and its impact in prevention of FQVID 19 ' .
2. Itis developed by Ministry of AYUS H and Ministry of Electronics and Information Technology

Which of the above statemeni(s) is / are correct?

Aot SRRt o o vy i PP AR O AT - . :

1. 7Z COVID 19 1 Trram i gpy ATl £t =g ofT s st sEE & i I

A T TATT T YT Ser AR # AER PO

\ = Fvr o gt B f1 AT 7 e AT 67
{a) T (c) (d)

I only / 5717 ) 2 only 757 2 Jonly /TG 3 Both | & 2/ 11

Operation Namuaste, ulien seen in the news recently is associated with which of the following?

I. Launched by the Indian Army (o combat the spread of COVID-19

2. Launched by the National Disaster Response Foree to combat the spread of COVID-19

3. Launched by the Indian Council of Medical Research Lo combat the spread of COVID-19

4. Launched by the Indian Ai( Force to cambat the spread of COVID-19

ST AR, JF ARSI H ZaT AT & FrafafE 8 F G e aEr gar 27

l.cowD-lg?ﬁmrfwmw«.%%ﬁﬁqwﬁﬁmm@sﬁmwﬁ )

2. COVID-19 3 THTT I GFAFT FLA F (O YT 41931 whefa &= 27 e Praw

127
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4. COVlD-19%WWWW%ﬁQWa@WWﬂ?ﬁﬂTW

(@) 6) 0 (d

L \3,covm-w%ﬁmmmmﬁ%m.mqﬁﬁmmmqﬁwmﬂsﬁmw
L

1 only / 5w | 2only / FT7 2 3 only / & 3 4 only / FaT 4

\123

Consider the following statements with respeet (o GOAL Progsamme, which was launched recently:-
1. The program aims 10 enable Scheduled Tribe (ST) youth in remote areas o use digital platforms
for sharing their aspirtions, dreams and talent with their mentors )
| 2. The programme was launched by the Ministry of Tribal Affairs in partnership with Google India
Which of the above statement(s) is / are correct?

GOAL T F #ew 7 Fravfefrs it e = %, R grer &1 3 wler R mam s -

I S FRH F 32T T 0T AgiSa Sty (qadt) F gt o S e 5 A st
SATRTEATSH, 6T Sl T 9y Ay o ¥ R R Rreer SRwHET 1 IR0 AR HOHeT 9T §

2. A T S[ATEH ST AT 3 W 270 Google India 3 379 rrerdy § Rmr war av

»
-

I AT A AT AT WA S 57

(a) (b) (c)

1 only /5= | 2 only / 7w 2 Both 1 and 2/ 3T only /9% 3

129

Consider 1he following statements -
I.. Comtribution made to ‘PM CARES Fund® shall qualifie:
2. Contribulion to *Chief Minister's Relief Fund®

as admissible CSR eapenditure
Which of the above statemein(s) is / are cops

Ao a1 e fmm 5 -
1. "o e v I R e D

nd’ for COVID-19 is not qualily

A6 B 5w 8 9 g
TG UET ST 7 A1 S g CSR @< & 7 7

(c) (d)

Both | and 2 / ST Neither 1 nor 2 / 378 &t

. T-l‘ .
2T & T T FeArad, ST Covid-19 F FraTs 7 9 e $ieRT B R Ry wor 9

() (b) ©) (d)

Epidemic Discase Act, | Medical Protection Act | Indian Medical Council Protection of Healthcare

g T ase, 1807 | g gen O SR AR IR | i e dow U,

1897 (MPA) Act, 1956 Worker Act, 1982

(MPA) =2, 1956 1982

131

Consider the following statements about UNDP's Human Dex'ulopmf:nlllndcx (HDI): - .
1. HDI is scored using indicators including life expectancy, per capita income, and education

2" HDI is ranked on a scale from 0 to 1.0, with 1.0 being the highest human development

3. HDI was first Jaunched in 1990 and since then released annually

4. As per HDI 2020 thc top nation on the list is Norway

Which of the above is / are correct? L - .
Tﬁfrﬁ%mﬁmﬂqm(ﬂaﬁmﬁ)$mwﬁaﬁﬁiﬁqﬁmﬁﬁmtm; -

| TS i S e, af =rfie sy i T AR AT H ITGOT T T 9y
2, QHERIE T 0 7 1.0 F 3907 ¢ Yo frery 7 &, R 1.0 79 0 w1 ey &

3. werSTTS T et A< 1990 F Wi R sy 4t 4 99 § T @reran s Ry m ay

4. WEETATS 2020 F A qAT 8T 2eravT &
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32

@ﬁaaﬁwmﬁe@_’f T
) [ TT—

() M — \
"1 and 2 only | and 3f>n|Y .\l"\(?d‘ () 1\
I T 2 I =7 3 i 1,2 3;{_‘_ 3 Al are carrect

gL I 3 R A ]

™ Consider the f ollowing statements about the Coneept o Susminable Devel
P opment’: -

sQur Comman Fuinre was pueblished
Ie World Commission on Environment and Development (WCED)

3. Itis popularly known as Brundtland (;U""Hission
4. The report sct the foundation of sustainable development

Which of the above statement(s) is / are correct?

'mmﬁmﬁﬁﬁﬁwﬁ%mﬁwﬁwﬁ;-

1. 1987 ¥ RS g A A smfh?rg—f"
2.33Wsﬂtﬁmmwﬁr’am(wcm)mmmamwm

3.%6ﬁ?ﬁﬁm7§qﬁﬁﬁgﬁ-ﬁﬁ2ﬁaﬁ‘ﬂﬁmma
4.Frq’1€$rmﬁmeﬁ‘r:ﬁﬁrd°r

1. In 1987 the repart
2, It was published byt

m‘ﬁﬁ$ﬂffﬁafmma‘—q"r%;'%f?
(c) (d)

(a) (b)
1 and 2 only 1 and 3 only
| 3T 2 | 3T 3 %99

[,2and 3 All are correct
1,253 GER AR

Ecosystem Protection

133

Consider the following statements about The Global Snow Leopard and

Program (GSLEP) : -
(. Ttis world’s first joint initiative that aims to conscrve the snow leopard

2. All 12 snow leopard range countries are a part of this initintive
3. The initiative aims to secure al least 20 snow leopard Jandscapes by 2020
' Which of the above is / are correct?
e A AT W s e S (GSLED) s i 3 Prafate e o ARG
l.aggﬁmﬁq?«ﬁﬁwm%ﬁwgﬁmﬁgﬁgqmmmm% ‘
z.wﬁlzﬁ%ﬁ%ﬁ%%qrwqua%wﬁ -
3, el 77 T2 2020 TF FHH TH 20 R T 2 1 GIRT FEATE

Iy i & FiA AT et 6/ 87
(c) (d)

(a) (b)
2 and 3 only I,2and 3

I and 2 only I and 3 only nd 3 « '
| T2 | &< 3 Fd 2 ST 3 FA 1,253
pect to World Heritage Day, 2020: -

134

Consider the lollowing statements with res .

1 It is celebrated every year to preserve {he human heritage and recognize_the cfforts of the
organizations working for it '

2. The theme for the World Heritage D3y is decided by _lhc UNESCO every year

3. ggz‘x'g.d Cultures, Shared Heritage. Shared Rcsponsnbilily is the theme of World Heritage Day,

Which of the above is 7 are ¢ y

s e correct?

fora P e, 2()2()%ﬂﬁuﬁﬁ-gﬁm$'mﬂﬁmﬁi -
ﬁgﬂmwﬁmﬂmmm R 9T T AT WBAT F TATET D Ty
¥ o gATI AT &

2. Bra wﬁfﬁwﬁﬁqummmzﬁmﬁ%

3. W”"ﬁﬁ et Forererer, wrerr et A e e, 2020 771 R g
ST BT AT Hal /87

(a) (®) (c)
(d)

I only /@& | [ and 2only (1 32 Fae) | 1and3 only (1 5% 3 Faet)
nly (1 & 3 3aer) | 22 :
.2and 3 (1, 2 3T 3)

135

E-2020 initiative, Jaunched by the World Health Organization (WHO), is regardi
, arding:

R eTEeT 5 (SSUTEN) @IRT 4 A 78 §-2020 T e Ay i

™. amn -




\

@ | ® © @
Anti-biotic Malaria Tackling health issues arising Disbursement of electronic aids to ;hg
resistance elimination from e-wasie dilferently abled in developing countries
ATt | waREr | SeOE I crear ey | faeeee 2l ¥ geagii Ogd A
pIERL i Ghl THEATEl &1 HTHAT AT ﬁ:srffm’—rEFrW i J
\ 136 \ “1 Commit” initiative which was in news recently is:- ("8 Afa=&” &+ 9T 19 & i @adi  4i-) ’
\ (a) (b) - () @
To create a robust and An c-commerce muarketing | To develop urban forest None of these.
resilient energy system | - platform for MSMES to murket and conservation of TAH IS AT
in the future and sell their products environment
ey # vw o e | MSMEs ¥ Rq ot oeqt 5 | gl o i wr
e ForT Tt Rru AR F R aw g | ol TaTERer T E J
y37 | Consider the following statements with respect to World Food Prize, 202(_): - Sobility of food ‘
1. It aims lo recognize scicnlists and others who have improved the quality and availability of foc
Organization (FAQ)

2. It has been awarded annually by the Food and Agriculture |
3. Dr. M.S. Swaminathan, the father of India's green revolution, Wa

in 1987
Which of the above is / are correct?

2

1. g:ﬁwﬁﬁmoﬁTwWﬂW%W

Q .
2. T AT X T W (qHEE) g afad R fArsEry -
3. f. ga.gw. |rfiarET aa A gha wif F o 1087 H %7 TEHTE 5 TEHT WTEAT X

s the first recipient of this award

R aTer FTE, 2020 3 e 3 Praff st o R et - N
e T ToTaT ST STt H T

-

s A arad g/ e
@ .- | (b): (c) (d)
2 Only /%4 | | and 3 only (1 9 3539) [ 2und 3 only (2 3T 3 #94) 1,2and 3 (1, 23T 3)

138 e
wealth distribution:

1, US has the most people in the top 10% of the global wealth distribution,

2. Most of the global wealth is owned by the richest 10% at the top.

Sclect the corvect option(s)

Ay u FoirE Sl 7o & ded |, o9 e g ¥ R sa69t w e st
1. A v e & o0 10% 7 gufca § gad qiis G g

2, afirior 4w T a1t i o< 7F 9T 10% F 9 g

In context with the release of the Global Wealth Report, consider the [ollowing statements about

a5t ey T
= (a) (b) - (c) (d)
nly | is correct Only 2 is correct Neither | nor 2iscorrect | Both | and=2 arc ©
: I ther | C orrect
S | wAE ST 2 wa TA I SRAR 29 g 1 37 2 ST wet &
139 Which of the following countries banned the single-use plastics from 20217 -
RafolRe i & fey 2or § 2021 & CHA-394RT AT+ CATRES 7 Tf=w =97 o
' {a) (b) (c) (d)
USA (@ T arifier) Canada (FT31) Germany (1) | India (9T%)
140 | "Umbrella Movement” belongs to which country? (ST AF T Ry 2oy & g 27
- (xln (b) © (d) ——
Aivan / T3 Hang Kong / Zim1ar France / FlE o R
141 Which of "‘f {ollgwing combinalion is not correct? ——ingapore/ 2
HH AT AT AT 727 725 29



- The inner ”ifﬂaln\-\\
Yy (a{mﬁ_{_
T R

() Choordhar (FIZUTY)

{ ) Maruk Parbat (T o) - The outer Wity o Rrvivy)
: y 1o Greater iy, i
() Shilla Peak (fomr =) - The Greate ”'m‘“il}’ux (77 Feroern)

The Grealter [,

) Phauludhar (&iTeT?) "“Yﬂ(s = F**mv?
- c) () \
(a) _—— —est naturitl lake i TTinmenal Pradeshy
L - s the bigpes N muchal Pradeshy}
Which of the [“:%’;'W"b - l.,uge—akr £t 7 AT AR e £7 \
AafaEa g a1 o) (c) (& 1\
T ) Chander Tal Lake Rewalsar Lake Renuka Lake ]
shar Lake AT <t AT =i 'T‘T!Tl'?ﬁ?f

Tt T’W{ il and seleet ihe correel :nus_(vcr_ from the COC!\‘:?,S ziven below:
e 'm?ﬁ;’f-nwﬁmﬂaﬁﬁﬁmmmﬁﬁd 3 '

List-11 (5=1-11)

ist- -1) .
(i) [;‘:;;ﬂnc(ﬂlsc (A) Buankuﬁ]ot "8
araETET T EGIERSIE] . | |
(ii) Kunjum Pass irgkking route Ifllo Pﬂ.ngl Valley
. Lahaul

(iii) Rohtang Pass

Tt & Ie.p T 7 =i i For e

(iv) Saach Pass Y Pass with crossroads on summit

« FTEL 9T FT0g ATAT 3

146 Who buil the famoug R

Codes (%
(ii) Giiy  (iv)
(@) C A B
(b) B C D
(c) @ B A
(d) ) A C > : ——;
144 ‘Chuba’, ‘Banjug’ and *Siring Kingar’ is a wraditional dress of Wh.lch of l{w foll?wmg tribe?
o, g 4 e R Rt 3 & R TSR AT T g
() (b) {c) (d)
Gaddi (T=T) Khampa (=ITFTT) S\vangln (F=FiTe) Pangwal (TT41<)
145 | Which of the following combination is nol correct?
ot & & a3 ar @grerT 78t 741 87
(5) Renuka Lake (voper =fi=) - Jamdagni (ererarta)
M) Nirnung (Fras) - Parshuram (TTYTH)
1) Manikaran (t{ﬁa,-m[) - Rishi Vashistha (ﬁ‘c—ﬁ' afarg)
() Mangi (W) _ Rishi Vyas m{ﬁi- =TH)

~at Bilaspur which later submerged in Govindsagar?

i fifa=anTC # 34 T

ang Mahal® palac

(c) =
2@ Bi d Raja Bijai Chand
. Ra s nd Raja Bir Chf\n :
T e Pk B T e i

Bt : : - . -
fately List land iy Iy 2 Solact tho carrect answer from the codes given below:-

i ol er) List-11 (-1
Master Mitragen (A) A repowned painter of Kangra Miniatures

W Ry e AT § T AT

Page 21 of 24




() O.P.Tak

(B) A freedom fighier, hanged in Delhi in 1945

ST = 1945 ¥ foreeft 3w werdrar TR A1 A & TR
(1)) Dal Bahadur (C) Member of constituent assembly
2 ARIET YT [uTAEay F 7
(iv) Captain Ram Singh (D) Social reformer, poet und dramatist
(E) Music Dircctor of the INA of Nelaji Bose
TSI AT & arguA § A Haas
Codes (%2):
() (i) (i)  (iv)
(a) D A B E
(b) D A B c
(c) D B E C
(d) D C A B
14g | ‘Dana Aghe’ was naine of which of the following place in the past? ‘
=1 oy srdfter | Fefafa % 51 B = a1 amar
@ (b) @ ) __
} Manali (W=T=1) Kullu () Bhuntar (4T7) Bajaury ('-l\?iltl)'
149 To promaote organic farming a scheme has been started in the Sl:{lc of H.P. Name Of\lh"' scheme is;
ST ST A7 TETaT 3 F [ e 3w e 4 oy s 2, qrern A A
l @ (D) ) 1. —
Prakritik Kheti Khush- | Prukritik Kheti Khush- | Prakritik Desh Prakritik Prakritik Kheti Prakritik
hall Kissan ball Pradesh Pradesh Desh
TFAT AT QU R | TERmadfgwd | weks e aghe T ST Wi a2l
Ll g REL!
" Which of the new scheme has been launched by the Govt. of H.P. with a view to provide water for
150 [, . 7. e
irrigation where check dams and ponds will be constructed?
Fa AT A5 o T, AR &7 IS 7T a7 At e HErg § R 9 svesr
T T 518 § = 6 T 27
(a) (b) (c) (d)
Jal Hai to !(rishi Hai Jal Dhan :x’ojna Jal Se Kris.hi Ko Bal Krishi Sinchayee Yojna
, Yoima ST o At Yol Tt Rt o
ST & 6T W § AT ST € S ST T Fier

PRERY



